normalized X2

107}

- vl —
— [ normalized x? probability | e
Entries| 339 0.16 = Entries 339
Mean 1.304 o | Mean 0.3852
Std Dev 0.7756 ¢ |stdpev 0.3206

0.14

chiz

5 Entries E<E] Enires S
10 Mean 1317 0.12 Mean 03822
Std Dev 0.787 F Std Dev 0.3198

chiz 0.3f--r--- - chiZ_prob
1073 Entries 335 Entries 335
Mean 1315 0.08k- Mean 0.3829

Std Dev “ Lstd Dev 0.3192

0.06

0.04]

ool - dp i

5 0. .8
x? Pr

A - . . .
5 2.4 e FEEER 5
c o H H
S 22F e (ERE
< o
v 2F
E - i
1-8:_' == DOM \V0001._R000000001.Global. CMSSW_ckiPUS0__RECO
1.6E-- | == DQM_v0001"R000000001 "Global _CMSSW_mkFitPUS0__RECO
“OF " | mmemm DQM_V0001_R000000001__Global _CMSSW_mkFitPUSOLowPtQuad__RECO
1.4F-- | == DQV V0001 R000000001_Global_CMSSW_mKFitPUSOLowPLTriplel_ RECO
AE - T
12 f fFHF e
- ' { i
oK R ) SERCERTEE: ELb :
[oX: SEERE- T EE TR IRTERT T foners
o 1o
2 s
o :
= bR
0.95 :
=3 -2 -1 0 1 2 3
n
A A
k<] B
j=4 =
= =
o o
> >
Vv \%

Ratio
Ratio

101 1 1 102 0* 107 1072 1071
0 0 H‘T 0 AR(track, ]ets)



	Contents
	Page 1


